Math 261
Fall 2022

Lecture 32

Math 261 Name:
Class Quiz 14

No Work < No Points
Use Pencil Only < Be Neat & Organized

1. (6 points) Find the equation of tangent line to the curve
sin(z +y) = 21' 2y at (m,m

Send 1A £ oo Cas(x44) 11 A\o} a_ac\‘ox
ST = 0V Plug tn (T T, Replace 3 o Y

Cosarn ( 1*w\):g‘gm A-7= %(xq‘\) ud
1 L Y- $xedl
AM=2 oW M>3 = 3Kt oS

2. (8 points) Show that the curves given by y = az® and 2+ 3y’ =b are

orthogonal at each point of intersection.
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3. (6 points) If f(z) is an even function, show that f”(z) is an even function.
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